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10000
1-1 000000
000000000000000 ye=  25.00 KN/
1-2 00000
00o00 (©O) W = 3.50 KN/
000 O(@O0) We = 0.00 KN/
ooo W = 3.00 kN/mP
0ooo Ww = 100.00 kN
0Doooo he = 3.000m
00000 (@+0) R =  8.10 kN/100
oDoooo @) Re =  2.60 kN/100
0Doooooo Wa = 1.400 m
0000000000000 Wo = 3.50 KN/m
0ooooo Kn = 0.200
0000000000000000000 P, = 27.00 k\/O
0Doooo W = 8.00 kN
0Doooo W, = 5.00 kN
0Doooooo Me = 10
0000 (CO0) . = 15.00
0000 (CO0) T. = -15.00
0ooooo a = 1.00x 10°
0000000000000 O«= 24.00 N/m
000000000000 E. =  2.50x 10 N/m
1-3 00000
00O
0ooQ 00 00 - —To
00000000000000000] 0w | Nm? | 160.0 | 160.0
00000000| 0w | Nm? | 200.0 | 200.0
0D00000000000000 G | N/m? 8.0
0D0000000000000 Ta | N/m? 0.39
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\
0, |
|
| u|
| xe
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0o 0o m 0o 0o m
oo hy 3.800 |OO bs 1.050
oooad by 3.700 b4 0.700
ogoooo t 0.550 bs 0.350
oo © 0.600 bs 0.975
L& 0.500 by 0.975
L7 0.350 |ODOOOOOOO bs 0.400
L3 0.250 L3 0.250
t 0.300
oooad h2 0.150 Wob 1.400
ogooooo b 3.000 |ODOOO hg 1.500
ogoooo o)) 1.500 (0000000 GuaL 1.675




200000
2-1 000
2-1-1 00
Aa = tObs = 0.600x 0.350 = 0.210 w
Ae = t:0b: = 0.350x 0.700 = 0.245 w
Ae = Aa+ A2 = 0.210 + 0.245=  0.455

2-1-2 00

Ge = Aei] (bs + 0.50 bs) + 0.50 Ae2l] bs
xe — AE

_ 0.210x (0.700 + 0.5% 0.350) + 0.5x 0.245x 0.700
- 0.455

=0.592 m

_ 0.50Aall & + 0.500 Al tx
Gy = A
_ 0.5x 0.210x 0.600 + 0.5x 0.245x 0.350
- 0.455

=0.233 m

2-1-3 000000000
a) 0010y000O000
bOt?® _ _0.350x 0.600°

_ _ 4
b = BOET < = 0.00630
b) 0020y0 00000
3 3
- bO®® _ 0.700x_0.350° _ § gyo5g ¢

beo = 79 = 12

gooobybbbbbbbooooooooooooooooo
Iye = Iyel + IyeZ + Aell:l(%)z + AeZD(%)Z - A Gye2

0.600

T)2

0.00630 + 0.00250 + 0.210x (

+ 0.245x (030

0.01050 m*

) - 0.455x 0.233

|
I
|
I
xe |
I
|
I
T
|




2-2 000
booobdbooobodbooobdobooobdoooobdaooobaooabaoo

2-2-1 00
Ao = b0t - b0 }°
_ 1.400
= 3.000x 0.550 - 0.400x 0.250x 3.700
=1.612 m
2-2-2 00O
Vs = b0 tOb: - bs0 tsd won + ts0 h20J ba

3.000x 0.550%x 3.700 - 0.400x 0.250x 1.400 + 0.250x 0.150x 0.700
5.991 m?

2-2-3 0000000000000
b0 t?® 1.050x 0.550°

by = 2 = 0 = 0.01456
DS
|:IL
O, w°
w° ﬁ -
Iy
e
< \lo
%, | o, g T
RV
— < o, | o, o
Og 0,0, o)
‘
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> x0



2-2-4 0000

x g
Vi = 0td (b7 + Ge)OOb: = 00.550x (0.975 + 0.592)0 x 3.700
=3.189 m*
Ve = Ot (bs + bs - Gxe)d O be - ts[J bel] weo
= [00.550x (0.975+1.050-0.592)0 x 3.700-0.250x 0.400x 1.400
=2.776 m
Vil 3 = Vi (b72+ Gre) _ 3.189x (0.9275 + 0.592)
0O =2.498n
Vel 3o = Vo (bs +2b3 = Ge) _ 2.776x (0.975 +21.050 - 0.592)
0O =1.989 m*
G = Ve xe = Vi x: _ -0.509
T > (Vi) - 5.965
= -0.085m
y 00
Vi = bs0 0 (b: - wew) = 0.400x 0.250x (3.700 - 1.400)
=0.230 m
V2 = (b - bs)d tO b = (3.000 - 0.400)x 0.250x 3.700
= 2.405 m®
Va = b0 0O b = 3.000% 0.300x 3.700
=3.330 m
Vil ya = Villts _ 0.230x 0.250
2 2
0O =0.029m
VOys = VeOte _ 2.405x 0.250
2 2
0O =0.301nm
Vilys = VOl (ts + 5) = 3.330x (0.250 + 2-3%0)
0o =1.332nm
6 = S (Vidyi) _ 1.661

y (Vi)  5.95
0.279 m
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X[X]O]|X

X[X|X]O

X | X[ X]|X

X | X[ X]|X

X | X[ X]|X

X | X[ X]|X

X | X[ X]|X

X | X[ X]|X

gbooood
goooo
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1.50

1.00
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4 000000
4-1 000o0o4aodn
4-1-1 0000400

O m]
]
O O O
O O
e
]
h:hl-%:3.8oo-°'—§’5’(’:3.525m

L = b - 20 (ts + Gy) = 3.700 - 2x (0.500 + 0.233) = 2.234 m

4-1-2 00000
0ooo x gd y od
(m (m
A 0.000 0.000
B 0.000 3.525
C 2.234 3.525
D 2.234 0.000
4-1-3 00000
obDgo ooogd oo20
opDgo
oo oo () ooooom)
1 A B 0.455 0.01050
2 B C 1.612 0.01456
3 D C 0.455 0.01050




4-2 00000
4-2-1 000000 1
gob - og +000

gog

o= AOy Ob
to L
1.612x 25.00x 3.700

= 2 234 = 66.75 kN/m

uboooodoooodn

b0 W br + Who
L

_ 3.000x 3.50x 3.700 + 100.00 _
= 2234 = 62.15 kN/m

ooooo

W2 = baOw, = 1.050% 3.00 = 3.15 kN/m
0000000D00o0oDoooooooon

P. = 27.00 kN
ooooo

P2 = Ren = 8.10 kN
ooooooooooog

Ps = (i + h)ObOw = (0.550 + 3.000)x 3.000x 3.00 = 31.95 kN
ooog

P: = AJy ¢ = 0.455x 25.00 = 11.38 kN/m
0o0oo0o0ooooooooogon

Ps = W + Aly ¢ = 3.50 + 0.455% 25.00 = 14.88 kN/m

Wi =

L - W 2.234 - 1.400

L = 5 = 5 =0.417m
Lo = L+ we = 0.417 + 1.400 = 1.817 m
_ L _ 2.234 _
Ls = 5 = 5 =1.117 m
Ls
L2
La ‘
==
\LPZ P1 \LPZ
\b Wid \b
Bt v 4% | e
N — —
= =
Pa Pa
= =
W2 W2
h —= —=
= =
Ps Ps
= =




4-2-2 0O0OO0O0O 2
uog - goo

gog

b= A0y Ob
to L

_ 1.612x 25.00x 3.700
- 2.234

uboooodoooodn

W = b0 wwd b1 + Who
o = T

_ 3.000x 0.00x 3.700 + 100.00
2.234
goao
W = Ay K = 0.455% 25.00x 0.20 = 2.28 kN/m
uboooboobgooobaoooban

= ([ + we)Kn = (Pgpp + 3-50)% 0.20 = 1.37 ki/m

ooooopoooooooooo

W = weoO Kn = 3.50% 0.20 = 0.70 kN/m
oOooooocooboooog

Pr=ws +wn =5.00 + 8.00 = 13.00 kN
oooooooo

P2 = Ra = 2.60 kN
oooooooooooooboo+000o0oo0o

Ps = (AOyY b + 20Rs + Wn + Who) [ Kn
(1.612x 25.00x 3.700 + 2x 2.60 + 8.00 + 100.00)x 0.20
52.46 kN

= 66.75 kN/m

= 44.76 kN/m

gog

Ps = Ady ¢ = 0.455% 25.00 = 11.38 kN/m
gboooodooooodgoooodn

Ps = Weo + Ay ¢ = 3.50 + 0.455% 25.00 = 14.88 kN/m



_ L -ww _ 2.234 - 1.400
L= =

5 5 =0.417 m
Lo =L+ we =0.417 + 1.400 = 1.817 m
_ L _ 2.234 _
Ls = 5 = 5 =1.117 m
Lz
L2
La ‘
S ——
¢P2 Pi ¢P2
\b Wid \b
ps B \L \L Wl\b \L
N —=
=
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=
W2
h —=
Wa Ps Wz
hg




4-3 00000
4-3-1 000000 1
gob - og +000

a.uoooodn

-62.14
1.22
1.22 -62.14
69 .27
-29.02 59 .38
137 .22
3.03 28 .92
-158.50 -193.94
13.19| [ 139.08
14.13| [[40.03
c.00gd
28.92 28.92
137.22 193.94

182.58 239.31



4-3-2 000000 2
uog - goo

a.uoogodn

-70.89

NN
NN
o
[e]e]

-48.83

b.0DODOO

91.85

59.28

15.99

24 .1

25.08(/|

c.un

36.47

5

-144 .80

-70.89

73 .36

36 .47

-175.46

| 45 .46

L 46 .56

36.47

91.85

137 .22

175.46

220.83



4-4 00000000

Ooooo A 0oooo
0001 |00 +000 1.25
0002 |00O0 1.50

Ooooooo 00oo 0o
booob oo M (kNOm) S (kN) N (kN)
000 (ADB) ~29.02 14.13 182.58
0001 (000 (BOC) 69.27 -193.94 28.92
00O (DOC) ~62.14 40.03 193.94
000 (ADB) ~48.83 25.08 137.22
0002 (000 (BOC) ~70.89 ~175.46 36.47
00O (DOC) 73.36 46.56 220.83




4-5 000004aoa
4-5-1 0
oboodboobimz20o0000oooooooooooocoooo

|
| 2
|
1
0o ggd gda2d
(m) ooooom)
a1 0.210 0.00630
a 2 0.245 0.00250
goooooo agooo ad
goooo ggd
M (kNOm) S (kN) N (kN)
ad 62.14 40.03 193.94
gool 1 44 .49 18.48 89.51
2 17.65 21.55 104.43
ad 73.36 46.56 220.83
gooz 1 52.52 21.49 101.92
2 20.84 25.07 118.91
4-5-2 00O

gboooboobooooobgoooboooaboaod



4-6 OOO0OO
4-6-1 0100000000
a.ugooood 1
gob - og +000

o000 Diex 20 OOOOO0O

ogoooooooooo Moo= 44490000 NOmm
ogoooooooooo S = 18480 N
ogoooooooooo N = 89510 N
ogoooooooooo b = 350 mm
ogoooooooooo h = 600 mm
ogoooooooooo d* = 110 mm
ogoooooooooo d = 490 mm
ogoooooooooo As= 397.2 mw?
gooooouoooooo X = 166 mm
Oc= 4.6 N/mm?
os= 133.8 N/mm?
Te= 10 = ek apg = 0-11 N/m

oo oo ooood ooooo oo
ooooooo N/mm2 133.8 200.0 0K
Og0o0oooooooooo N/mm2 4.6 10.0 0K
O0oo0ooooooodoo N/mm2 0.11 0.49 0K




b.0DODOOOO 2
uog - goo

000 Dpex 20 OOO0OO0O

ogoooooooooo Moo= 52520000 NOmm
ogoooooooooo S = 21490 N

ogoooooooooo N = 101920 N

ogoooooooooo b = 350 mm
ogoooooooooo h = 600 mm
ogoooooooooo d* = 110 mm
ogoooooooooo d = 490 mm
ogoooooooooo As= 397.2 mmw?
gooooouoooooo X = 164 mm
Oc= 5.4 N/mm?

os= 162.5 N/mm?

Tc= bDSd = 352015%1090 = 0.13 N/mm?

oo oo ooood ooooo oo
ooooooo N/mm2 162.5 300.0 0K
Og0o0oooooooooo N/mm2 5.4 12.0 0K
O0oo0ooooooodoo N/mm2 0.13 0.59 0K




4-6-2 0200000000
a.ugooood 1
gob - og +000d

000 Dpiex 50 OOO0OO0O0

ogoooooooooo Moo= 17650000 NOmm
ogoooooooooo S = 21550 N

ogoooooooooo N = 104430 N

ogoooooooooo b = 700 mm
ogoooooooooo h = 350 mm
ogoooooooooo d* = 110 mm
ogoooooooooo d = 240 mm
ogoooooooooo As= 993.0 mm?
gooooouoooooo X = 142 mm
Oc= 2.4 N/mm?

os= 25.3 N/mm?

Tc= bDSd = 70201552(110 = 0.13 N/mm?

oo oo ooood ooooo oo
ooooooo N/mm2 25.3 200.0 0K
Og0o0oooooooooo N/mm2 2.4 10.0 0K
O0oo0ooooooodoo N/mm2 0.13 0.49 0K




b.0DODOOOO 2
uog - goo

000 piex 50 OOO0OO0

ogoooooooooo Moo= 20840000 NOmm
ogoooooooooo S = 25070 N
ogoooooooooo N = 118910 N
ogoooooooooo b = 700 mm
ogoooooooooo h = 350 mm
ogoooooooooo d* = 110 mm
ogoooooooooo d = 240 mm
ogoooooooooo As= 993.0 mm?
gooooouoooooo X = 139 mm
Oc¢= 2.9 N/mm?
os= 31.8 N/mm?
Tz 0 T el Ns = 0.15 N/m

oo oo ooood ooooo oo
ooooooo N/mm2 31.8 300.0 0K
Og0o0oooooooooo N/mm2 2.9 12.0 0K
O0oo0ooooooodoo N/mm2 0.15 0.59 0K




4-6-3 000 (QOO0O0D0)
a.000000 1

000 : 00 + 000
D00 06« 70 000000
00000000000 M = 69270000 NOm
00000000000 S = 103940 N
00000000000 b = 1050 mn
00000000000 h = 550
00000000000 ¢ = 65 m
00000000000 d = 485
00000000000 Asz 1390.2 mr
0000000000000 X = 113 m
oc= 2.3 N/mmw
os= 112.3 N/mm’

_ S _ 1930 _ :
T bOd - 1050x 4g5 - 0-38 N/mn

ili 00 [ 0000 00000 |00

0000000 P | 112.3 2000 | oK
0000000000000 | Wne | 2.3 0.0 |
000000000000 | W | 0.38 0.8 | «




b.0DODOOOO 2
uog - goo

oo0o0 pex 70 OOOOOO

ogoooooooooo Moo= 70890000 NOmm
ogoooooooooo S = 175460 N

ogoooooooooo b = 1050 mm
ogoooooooooo h = 550 mm
ogoooooooooo d* = 65 mm
ogoooooooooo d = 485 mm
ogoooooooooo As= 1390.2 mm?
gooooouoooooo X = 113 mm
Oc= 2.3 N/mm?

os= 114.9 N/mm?

Tc= bDSd = 101575’36285 = 0.34 N/mm?

oo oo ooood ooooo oo
ooooooo N/mm2 114.9 300.0 0K
Og0o0oooooooooo N/mm2 2.3 12.0 0K
O0oo0ooooooodoo N/mm2 0.34 0.59 0K




4-7 4o

4-7-1 000000 1

0oo00 : 00 +000
oo oo oo 01 o2 ooo
ooooooo M NOmm 44490000 17650000 69270000
oooo S N 18480 21550 193940
oo N N 89510 104430 -—
ooo b mm 350 700 1050
ooo h mm 600 350 550
ooooo d" mm 110 110 65
ooo d mm 490 240 485
ooo mm, O ODi6x 20 | OD16x 50 | OD16x 70
As mm? 397.2 993.0 1390.2
ooo X mm 166 142 113
ooo Os N/mm? 133.8 25.3 112.3
Oc N/mm? 4.6 2.4 2.3
T N/mm? 0.11 0.13 0.38
ooooo O sa N/mm? 200.0 200.0 200.0
Oca N/mm? 10.0 10.0 10.0
T ca N/mm? 0.49 0.49 0.49
4-7-2 000000 2
ooo - goo
oo oo oo 01 o2 ooo
ooooooo M NOmm 52520000 20840000 70890000
oogo S N 21490 25070 175460
oo N N 101920 118910 -—
ooo b mm 350 700 1050
ooo h mm 600 350 550
ooooo d" mm 110 110 65
ooo d mm 490 240 485
ooo mm, O ODi6x 20 | OD16x 50 | OD16x 70
As mm? 397.2 993.0 1390.2
ooo X mm 164 139 113
ooo Os N/mm? 162.5 31.8 114.9
Oc N/mm? 5.4 2.9 2.3
T N/mm? 0.13 0.15 0.34
ooooo O sa N/mm? 300.0 300.0 300.0
Oca N/mm? 12.0 12.0 12.0
T ca N/mm? 0.59 0.59 0.59
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gboooboobobooabooooboooabgooaboaoo

5-1 00000

5-1-1 0d0Ogoo 1
gob - og +000d

a.ggg
gad
Gu =
gooo
G =
gad
G =
Gns =

Gus =
Ghs =
gad

G =

Gns =
gad
G =
gd
Gwe =
Grs =

20 Ran = 2x 8.10 = 16.20 kN
wn = 8.00 kN

VsOy ¢ = 5.991x 25.00 = 149.78 kN
b0 0w = 3.700x 0.550% 3.00 = 6.11 kN

20 A0y ¢ = 2x 0.455x 25.00 = 22.75 kN/m
200w = 2x 0.600x 3.00 = 3.60 kN/m

Wy

W _ 5.00 -
he + 20 Weo = 1.500 * 2x 3.50 = 10.33 kN/m

b0w, = 1.500x 3.00 = 4.50 kN/m

b0 b:Ow = 3.000x 3.700x 3.50 = 38.85 kN

W = 100.00 kN
b0 hed W = 3.700x 3.000x 3.00 = 33.30 kN

bL
Ghs
Gv7\LGv8 -
|
Gv
Z \LGVZ Gha
tl -
‘ Gvs
v
Gva Gha
V
Ghs
hg
\As
be bz b7




b.0ODOOODOO
uboobodoooobaod

6o = 2= 100 g5y
Gu = 1.675 m (0OOOOD00)
ooo
Mi = GaO O - (Ga + br)0 = 16.20x [ 3.000 - (0.525 + 0.975)0]
= 24.30 KNOm
0000
Mo = Goll (Go + be - Gw) = 8.00x (0.525 + 0.975 - 1.675)
= -1.40 KNOm
ooo
Ms = Gall (Ge + Gi - Go) = 149.78x (0.592 + (-0.085) - 0.525)
= -2.70 KNOm
0
Me = Gul (1 - £)0 (Ge - Go) = 22.75% (3.800 - 0.550)x (0.592 - 0.525)
= 4.95 KNOn
ooo
Ms = Gal ) (Gu + bs - Gu) = 10.33x 1.500x (0.525 + 0.975 - 1.675)
= -2.71 KNOm
ooo
Mo = 6ol { (G + be) -} = 38.85x 0 (0.525 + 0.975) - 3000y
= 0.00 KNOn
0o
Mo = Gall { (G + b) -3} = 100.00x 0 (0.525 + 0.975) - 30003
= 0.00 KNOn
Moo= S (M) = 22.44 kNOm



ubooobodoooobaod

aog

0.550

Ma = el (- 5) = 6.11x (3.800 - 252 )

M =

ooo
Mns

oo
Mns

Mn

21.54 kNOm

GO (e - ) _ 3.60x (3.800 - 0.550)
2 - 2
19.01 KNOm

Grs hg 2 4.50% 1.500°

7 >
5.06 kN

Gul) (hs + ) = 33.30x (3.800 + 3-000)
176.49 KNOn

S (Wi) = 222.10 kNOm

gbooooobgooobodn

M

c.ugood

d.00o

Mo+ Ma = 22.44 + 222.10 = 244.54 kNOm

Ghs + Gmad (h: - tx) + GrsO hg + Gns
6.11 + 3.60x (3.800 - 0.550) + 4.50x 1.500 + 33.30
57.86 kN

Gu + G + G + Gu (h: - t) + GsOhg + Gz + Gue

16.20 + 8.00 + 149.78 + 22.75x (3.800 - 0.550) + 10.33x 1.500
+ 38.85 + 100.00

402.26 kN



5-1-2 000000 2

000 : 000
a.000
000
Gu = 20Rs = 2x 2.60 = 5.20 kN
Gu = Gu K» = 5.20x 0.20 = 1.04 kN
0ooo
G = We = 8.00 kN
Ge = Gl Ko = 8.00% 0.20 = 1.60 kN
000
G = Vel y « = 5.991x 25.00 = 149.78 kN
G = Gl Kn = 149.78x 0.20 = 29.96 kN
0
G = 20 ALl « = 2x 0.455x 25.00 = 22.75 KN/m
G = Gull Ko = 22.75 0.20 = 4.55 KN/m
000
Ge = o+ 20w = 15.'5?000 + 2x 3.50 = 10.33 KN/m
G = Gwll Ko = 10.33% 0.20 = 2.07 KN/m
000
G = b0 by Oww = 3.000x 3.700x 0.00 = 0.00 kN/m
0o
Go = Who = 100.00 kN

Ghs =

Gl Kn = 100.00x 0.20 = 20.00 kN

bL

Gh1
— Gh2

&[‘L Gh3a Gv2

Gvs

Gva

hg b

Gv7/Gvs =



b.0ODOOODOO
uboobodoooobaod

Gx =

GuaL =
oo
Ma =

oooo
M2 =

ooad
Ms =

Ma =

ooad
Ms =

ooad
M7 =

aoad
Ms =

=
"

bs _ 1.050 _
5 = 5 =0.525m

1.675 m (00O0O0O0OODO)

leD D bL - (Gxx + b7)[|
5.20x 03.000 - (0.525 + 0.975)0
7.80 KNOm

GVZD (Gxx + b6 - GV4L)
8.00x (0.525 + 0.975 - 1.675)
-1.40 KNOm

GVSD (Gxe + Gx - Gxx)
149.78x (0.592 + (-0.085) - 0.525)
-2.70 KNOm

GV4|:| (hl - tl)[l (Gxe - Gxx)
22.75% (3.800 - 0.550)x (0.592 - 0.525)
4.95 kNOm

GVSD th (Gxx + b6 - Gv4L)
10.33x 1.500x (0.525 + 0.975 - 1.675)
-2.71 KNOm

Ga00 { (G + b) - 23
0.00 kN

Gall { (G + b3) - 2
0.00 kN

S (M) = 5.94 kNOm

0.00x O (0.525 + 0.975) -

100.00x O (0.525 + 0.975) -

3.000
5 O

3.000
5 O



obooooooooboooo
oooooooo
Ma = (G + Gr2)x ha
(1.04 + 1.60)x 3.800
10.03 KNOm

aog

Mz = Gned (he - %)

29.96x (3.800 - 2:290

2
105.61 kNOm

_ G (he - t2)?
Mna 2

4.55x (3.800 - 0.550)°
2

= 24.03 kNOm
aog

GhSD hg 2
2

2.07x 1.500°
2

2.33 kNOm

Ms =

oo
Mns

Gull (e + ) = 20.00x (3.800 + 3:000)
106.00 KNI

Mh > (M) = 248.00 kNOm

gbooooobgooobodn
M =M+ M =5.94 + 248.00 = 253.94 kNOm

c.000o0d

S =06m + G2 + Gne + Gud (s - t) + G hy + Gre
1.04 + 1.60 + 29.96 + 4.55x (3.800 - 0.550) + 2.07x 1.500 + 20.00
70.49 kN

d.00o

=
|

= Gu + Gz + G + Gul (ht - t) + GsOhg + Gz + Gue

5.20 + 8.00 + 149.78 + 22.75x (3.800 - 0.550) + 10.33x 1.500
+ 0.00 + 100.00

352.41 kN



5-2 00000000

Ooooo A 0oooo
0001 |00 +000 1.25
0002 |00O0 1.50

Ooooooo 00oo 0o
booob nob M (kNOm) S (kN) N (kN)

Qoo |020000 244.54 57.86 402.26

010000 122.27 28.93 201.13

Q0n, |020000 253.94 70.49 352.41

010000 126.97 35.25 176.21




5-3 00000

uboooboobgooobooooban

5-3-1 0
a.ugooood 1
gob - og +000

oo0o0 Diex 20 OOO0OO0O

ogoooooooooo M = 122270000 NOmm
ogoooooooooo S = 28930 N
ogoooooooooo N = 201130 N
ogoooooooooo b = 350 mm
ogoooooooooo h = 1050 mm
ogoooooooooo d* = 110 mm
ogoooooooooo d = 940 mm
ogoooooooooo As= 397.2 mmw?
gooooouoooooo X = 324 mm
Oc¢= 4.1 N/mm?
os= 116.3 N/mm?
Tes 0 T sy = 0.00 N/m

oo oo ooood ooooo oo
ooooooo N/mm2 116.3 200.0 0K
Og0o0oooooooooo N/mm2 4.1 10.0 0K
O0oo0ooooooodoo N/mm2 0.09 0.49 0K




b.0DDOOOO 2
uog - goo

000 Dpex 20 OOOOO0O

goooooooooo M = 126970000 NOmm
ogoooooooooo S = 35250 N
ogoooooooooo N = 176210 N
ogoooooooooo b = 350 mm
ogoooooooooo h = 1050 mm
ogoooooooooo d* = 110 mm
ogoooooooooo d = 940 mm
ogoooooooooo As= 397.2 mmw?
gooooouoooooo X = 285 mm
Oc¢= 4.4 N/mm?
os = 153.2 N/mm?
Tes 0 = gty = 0.11 N/m

oo oo ooood ooooo oo
ooooooo N/mm2 153.2 300.0 0K
Og0o0oooooooooo N/mm2 4.4 12.0 0K
O0oo0ooooooodoo N/mm2 0.11 0.59 0K




5-4 000

5-4-1 000000 1

ooo - oo +000
oo oo oo oo
o0ooooo M NCOmm 122270000
ooood S N 28930
oo N N 201130
ooo b mm 350
ooo h mm 1050
ooooo d* mm 110
ooo d mm 940
ooo mm, 0OD16x 20
As mm? 397.2
ooo X mm 324
ooo Os N/mm2 116.3
Oc N/mm? 4.1
T N/mm? 0.09
ooooo O sa N/mm? 200.0
O ca N/mm? 10.0
T ca N/mm? 0.49
5-4-2 OO0O0O0O0O 2
ooo - oo
oo oo oo oo
ooooooo M NCOmm 126970000
oooo S N 35250
oo N N 176210
ooo b mm 350
ooo h mm 1050
ooooo d* mm 110
ooo d mm 940
ooo mm, 0OD16x 20
As mm? 397.2
ooo X mm 285
ooo Os N/mm2 153.2
Oc N/mm? 4.4
T N/mm? 0.11
ooooo O sa N/mm? 300.0
O ca N/mm? 12.0
T ca N/mm? 0.59




